Name:

November 04, 2020

GENERATOR

Sr: 04112020-1791
MATHS WORKSHEET %’

11-PLUS
SATS {ﬁf)
GCSES \Z

1) 29, -9, 2) 1134 + (-21) 3) 76 x 39.3
Answer: Answer: Answer:
4) Find area of triangle 5)  Decrease 222 by 29% 6) Share 95 in theratio 88:7
a p h=5501ina=
8257.in,
T b=9284in,c=
9673in
Answer: Answer: Answer:
7) (A7 x 52) +4+16 8) 5639.1 + 3599.4 9)  Write 4000 in standard form.
Answer: Answer: Answer:
10) 3989 + 6910 11) 97 x (-64) 12)
34_ L=
Volume of Cone
34
Answer: Answer: Answer:
13) b 14) Find area of 15)  Increase 465 by 97%
b rectangle having
sidesa= 8156 cm
a o] c a and b =6972 cm
Measure angle boc
Answer: Answer: Answer:
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GENERATOR 2 GCSES T

16) Solveby factorising

17)  Round 5.70449 to the nearest 10000

18) Find the range of the following set of data:

increase an amount by 63%?

0.9,-6,17,20,0.2,3,-0.4

j2+18/-19=0 02,07, 11,-01,1,8
Answer: Answer: Answer:
19) Find the range of the following set of data: 20) Find area of 21) (-8189) - 3106
02,0.7,11,-0.1,1,8 b rectangle having
sidesa=9780in
a and b =9454in
Answer: Answer: Answer:
22)  Simplify 29:89 23) Find perimeter of 24)
triangle 33 Find Volume of
b b a=5837m,b= Cylinder
6358 m .
a
Answer: Answer: Answer:
25) What would you multi p|y by to 26) Find the range of the following set of data: 27) Find the range of the following set of data:

0.9,-6,17,20,0.2, 3,-0.4

Answer:

'‘Name the type of angle.

Answer:

Answer: Answer: Answer:
28) 6 ¥g-12 W e 29) 30) Find perimeter of
b rectangle having
sidesa=8854in

a and b =1523in

Answer:
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Sr: 04112020-1791

Name:
B 11-PLUS
MATHS WORKSHEET |; SATS 2o
November 04, 2020 GEMERATOR 4 GCSES X )
31) (3x 1-4) X (4x 24) 32) Find the range of the following set of data: 33) Decrease45 by 2/9
14, 10, 0, 12, 16, -0.3, 0.8, -20
Answer: Answer: Answer:
34) Increase 248 by 3/124 35) Find the range of the following set of data: 36) 15/3 - 19/8
0.6,3,-0.1,0.2,-18,19,-9,1,0,5
Answer: Answer: Answer:
37) 38) 6 20-11 g 39) (7 x 63) - (3x 42)
Find the next three numbersin
the sequence
0112358 , ,
Answer: Answer: Answer:
40) Find perimeter of 41)  Increase 20 by 1/2 42) Convert the following mixed number
b rectangle having 403/ 14 1Nto an improper fraction.
sidesa=7598in
a and b =1093in
Answer: Answer: Answer:
43) 8425 - (-7712) 44)  Increase 238 by 12% 45)  Round 7.5443 to the nearest 10
Answer: Answer: Answer:
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11-PLUS
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46) 2 47) 35/ 6 X 1217/18 48) Find the median of the following set of data:
81 8 27,7, 16, 28, 3, 27, 24, 33, 13, 10,
24, 26, 39, 6, 11, 19, 26, 36, 25, 31
Answer: Answer: Answer:
49) Find the median of the following set of data: 50) 25/14 R 23/19 51) 7645 + (-2278)
27,7,16, 28, 3, 27, 24, 33, 13, 10,
24, 26, 39, 6, 11, 19, 26, 36, 25, 31
Answer: Answer: Answer:

52) Round 15.1340218986 to 6
significant figures.

53) 8276.4+ 484

54) 77.9x 334

Answer: Answer: Answer:
55) 756 0f 72 56) Factorise 9g2 + 24q + 12 57) Find area of square
having each side (s)
s equals 6844 in
s
Answer: Answer: Answer:

58) (7x67)-(1x72)

Answer:

59) Convert the following improper
fraction 20%/ + 361/, into a mixed
number

Answer:

60)  Write 300000 in standard form.

Answer:
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61) Find area of square 62) Round 5.63812025769 to 6 63)  Findthemode of the following set of data
having each side (s) significant figures. 71,71,71, 71,71, 71, 115, 115,
s equals 4093 ft 115, 160, 160, 160, 78, 78, 78, 78,
78
3
Answer: Answer: Answer:
64) Find perimeter of 65) Find perimeter of 66) 1/13 of 52
b rectangle having square having each
sidesa=8694 m s side (s) equals 9091 ft
a andb=2492m
s
Answer: Answer: Answer:
67) / 68) 21 4y,-40 8 69)  Round 4.5 to the nearest 10000
A B=71
Find the Angle at side A.
Answer: Answer: Answer:
70) Write 100000000 in standard form. 71) Find perimeter of 72)  Convert the following mixed number
square having each 59/7 into an improper fraction.
s side (s) equals 1878 m
s
Answer: Answer: Answer:
73) Convert the following mixed number 74) 01:49 am To 11:51 am 75) 510+ 10
3610/9 into an improper fraction.
Answer: Answer: Answer:
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11-PLUS
SATS
GCSEsS

o
=

76)
37 Find Volume of
Cylinder

Answer:

77)  Write 3000 in standard form.

Answer:

78) (1x12)+Bx74

Answer:

79) Decrease 255 by ¥/ge

80) Convert the following mixed number
224/, 4 into an improper fraction.

81)  (-4167) - (-3375)

Answer: Answer: Answer:
82) S, 0f 260 83) Find area of 84) 0% Y,
. triangle s = 6315 cm
s
Answer: Answer: Answer:

85) A number was shared in theratio
67:2. The smaller share was 76.
What was the larger amount?

Answer:

86) A number was shared in theratio
4:100. The smaller share was 49.
What was the larger amount?

Answer:

87) 26 1;5-19 84

Answer:

88) Convert the following fraction into a
mixed number: 7%/,g

Answer:

89) A number was shared in the ratio
14:98. The smaller share was 58.
What was the larger amount?

Answer:

90) Anamount was increased by 8% to
$74.00. Find the original amount.

Answer:
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increase an amount by 68%?

Answer:

161, 161, 161, 161, 161, 94, 94, 94,
146, 146, 125, 125, 125, 125

Answer:

91) Increase 387 by 98% 92) 291/3 + 203 4 93) Find the percentage change from 248
to 136.4

Answer: Answer: Answer:

94) 1318+ (-3442) 95) Find perimeter of 96) 37,5 x 102
square having each
s side () equals 4923 m
s

Answer: Answer: Answer:

97) What would you multi p|y by to 98) Find the mode of the following set of data:

99)
38_/ Find Volume of Cone

35

Answer:

s e

35

Answer:

100)
38J Find Volume of Cone

Total: /100
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Name:

November 04, 2020

1) 28Y,

8) 92385

15) 916.05
22)29: 89

29) Straight

36) 25/g

43) 16137

50) 15965

57) 46840336in
64) 22372m

71) 7512m

78) 19209

85) 2546
103,

92) 1103,

99) 12186.76150205

Copyright 2020 - Geek School Tutoring Limited

2) -54

9)4x 103
16)j=1or-19
23) 18553m
30) 20754in
37)13,21,34,
44) 266.56

51) 5367

58) 1959503
65) 36364ft

72) 4,

79) 246

86) 1225

93) -45%

100) 12186.76150205

3) 2986.8
10) 10899

17) 5.7045

24) 106160.69895011
31) 192

38) 1027/,

45) 75

52) 15.134

59) 574/

66) 4

73) 3344

422

80) 422/,
151

87) 634,

94) -2124

Answers:

4) 25535642in
11)

18) 11.1

25) 1.63

32) 36

39) 1464

46) 3

53) 17.1

60) 3x 10°
67) 109

74) 10 Hours 02
Mins

81) -792

23
88) 223/,
95) 19692m

MATHS WORKSHEET %«'

GEMERA i

5) 157.62
12) 41159.052552231
19)11.1

26) 26

33)35

40) 17382in

47) 4957/, 00

54) 2601.86

61) 16752649ft

68) 38°%/o

75) 51

82) 15
89) 406
96) 400

Sr: 04112020-1791

6)1:94

13) 122

20) 92460120in
27) 26

34) 254

41) 30

48) 17

55) 14

62) 5.63812
69) 4.5

76) 159131.09268228

83) 17268210.966618cm
90) $68.52
97) 1.68

11-PLUS
SATS
GCSES

A0
{'”ﬂ'—)

7

14) 56863632cm
21) -11295

28) 12179,

35) 37

42) 563/14

49) 17

56) (30 + 6)(q + 6)
63) 71

70) 10 x 107

77) 3x 103

84) %/
91) 766.26
98) 161
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